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Section : General Knowledge
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Question ID : 2752289579
Status : Answered
Chosen Option : 2
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Question ID : 2752289588
Status : Answered
Chosen Option : 1
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Question ID : 2752289583
Status : Answered
Chosen Option : 2
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Question ID : 2752289585
Status : Answered
Chosen Option : 1
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o 2.9 Fefaw
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Question ID : 2752289581
Status : Answered
Chosen Option : 2
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Ans o 1.17

X 2.21
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X 4.19

Question ID : 2752289589
Status : Answered
Chosen Option: 1

Q.7 Which of the following is an endogenic force?
Ans X 1.Wind

25 2. Glaciers
«# 3. Earthquake
< 4. River

Question ID : 2752289582
Status : Answered
Chosen Option: 3

Q.8 fre wRda w5 A S1u=T 73 o wTuAT e 15 o1 2021 &t ARI?
Ans X 1. 7SRIA

X 2. IrUTTad U

o 3. fGama uer

X 4. FgRIY

Question ID : 2752289587
Status : Answered
Chosen Option : 4




Q.9 Who has been honoured with the 51st Dadasaheb Phalke Award?
Ans X 1.Dharmendra

#5< 2. Amitabh Bachchan
«" 3. Rajinikanth
< 4. Anil Kapoor

Question ID : 2752289584
Status : Answered
Chosen Option : 2

Q.10 2021 # fre =1 Fi sregerar # Ot G20 o= w3t ofix dee deh Mo+ (Y. ga.wh.t.5f.) 6
ek At Y 1E?

Ans o 1.3l
X 2. sitegfera
X 3.7
X 4 9Rd

Question ID : 2752289586
Status : Answered
Chosen Option: 3

Q.11 Who won the Purple Cap in IPL 2020?
Ans X 1. Mohammad Shami

#< 2. Trent Boult
" 3. Kagiso Rabada
#5 4. Jasprit Bumrah

Question ID : 2752289590
Status : Answered
Chosen Option : 3

Q.12 wgrent wieht (1) siaen & 2000 F9d & e & 63 =T 8?
Ans o 1. HITEEH

< 2. @t foRer

< 3.3y & Oy gt

X 4. T wu

Question ID : 2752289580
Status : Answered
Chosen Option : 1

Section : General Aptitude or Reasoning
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Question ID : 2752289593
Status : Answered
Chosen Option : 2
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Ans X 1.8
o 2.17
X 3.20
X 4.9

Question ID : 2752289600
Status : Answered
Chosen Option : 4
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Question ID : 2752289592
Status : Answered
Chosen Option : 4
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Ans X 1.41+13+14-28x12=53
& 2.39+13x4+11-2=21
X 3.14+42-9x11+2=6
X 4.19+57-114x47+3=-8

Question ID : 2752289599
Status : Answered
Chosen Option : 2

Q.5 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.
AN, CR, EV, ?, ID

Ans X 1.GY
 2.6Z
X 3.HY
X 4.HZ

Question ID : 2752289591
Status : Answered
Chosen Option : 2

Q.6 From the given answer figures, select the one in which the question figure is
hidden/embedded.
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Question ID : 2752289602
Status : Answered
Chosen Option : 3




Q.7 In the following question, select the odd figure from the given alternatives.

Ans I:I A

X1
® |\
| A

x 2
® (]
A\

« 3.
Valle.
e

x 4.
1| A

Question ID : 2752289601
Status : Answered
Chosen Option : 3

Q.8 us fafAe &l W A, ‘Cars are heavy’ @1 'kt Im pr’ for@r Srar &, ‘Heavy were doors and’ &Y
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car’ &l his T 8?

Ans X 1.@%Im
25 2. prktrm
< 3. Im#rm
o 4.primrm

Question ID : 2752289595
Status : Answered
Chosen Option: 2
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Question ID : 2752289597
Status : Answered
Chosen Option : 3
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Question ID : 2752289596
Status : Answered
Chosen Option : 4

Q.11 In a certain code language, ‘TRIPOD’ is written as ‘'GRSLUW’. What is the code for ‘'GANSTP’
in that code language?

Ans X 1.SVWQDS
< 2. swvQoJ
< 3.swuqbJ
& 4.SWvQDJ

Question ID : 2752289594
Status : Answered
Chosen Option : 4




Q.12 aR13@14R11=16auT19R11 @16=24&, 4@ 11R3=?

Ans

X 1.14
X 2.18
X 3.24
o 4.12

Question ID : 2752289598
Status : Answered
Chosen Option : 4

Section : Domain Knowledge

Q.1 Which of the following characteristics of an ideal flow-density relationship for fundamental diagram of traffic flow is
INCORRECT?
Ans X 1.
When the number of vehicles gradually increases the density as well as flow increases.
X 2
When the density is zero, flow will also be zero, since there are no vehicles on the road.
X 3.
When more and more vehicles are added, it reaches a situation where vehicles can't move. This is referred to as
maximum density.
W 4
There will be no density between zero density and jam density, when the flow is maximum.
Question ID : 2752289680
Status : Answered
Chosen Option : 4
Q.2 Which of the following is NOT the correct property of lime which constitutes less than 10% of clay?
Ans X 1. Reduces the shrinkage on drying
X 2. In carbonated form. it lowers the fusion point
+ 3. Improves impermeability and durability
X 4. Causes silica in clay to melt on burning
Question ID : 2752289621
Status : Answered
Chosen Option : 2
Q.3  Which of the following statement is NOT true for 'self-weight' (one of the non-applied forces)?
Ans o 1.

‘When analysing non-equilibrium conditions of a body, self-weight is treated as acting through the centre of gravity of
the body.

x 2

Evervbody subjected to gravitational acceleration and hence has got a self-weight.
X 3. Self-weight always acts in vertically downward direction.

X 4. If self-weight is very small, it may be neglected.

Question ID : 2752289605
Status : Answered
Chosen Option : 4




Q.4

Ans

Statics is NOT based on

X 1. principles of superposition
X 2. Newton's law of mechanics
X 3. parallelogram law of forces

« 4. principles of physical dependence

Question ID : 2752289603
Status : Answered
Chosen Option : 4

Q.5 If the non-linearity in the system is due to stress-strain relationship, it is called

Ans X 1. aided non-linearity

X 2. deformed non-linearity

X 3. geometric non-linearity

+ 4 material non-linearity

Question ID : 2752289610
Status : Answered
Chosen Option : 4

Q.6 are closed at the top, but open at the bottom.
Ans

# 1. Drilled piers
« 2. Floating caissons
X 3. Open caissons

« 4. Ppneumatic caissons

Question ID : 2752289657
Status : Answered
Chosen Option : 4




Q.7
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Which of the following is the correct type of riveted joints for the given figure?
AnsX1. Double riveted double cover butt joint

+ 2. Double riveted single cover butt joint
X 3. Butt joint, rivet in double shear

X 4. Double cover butt joint

Question ID : 2752289641
Status : Answered
Chosen Option : 2

Q.8 Which of the following statements is NOT true about pipette method for the particle size analysis?

Ans X 1.

It is a standard laboratory method for the particle size analysis of fine-grained soils.
« 2. It is very convenient for quick particle size analysis.
« 3. It requires a very sensitive weighing balance.

X 4. It is a very accurate method.

Question ID : 2752289644
Status : Answered
Chosen Option : 4

Q.9

is the equatorial angular distance measured eastward from the first point of Aries to the hour circle through
the heavenly body.

Ans X' 1. Observer's meridian

« 2. Right ascension
/3. The azimuth

< 4. Celestial horizon

Question ID : 2752289689
Status : Answered
Chosen Option : 4




Q.10 Which of the following is NOT the correct assumption for the analysis and design of a reinforced concrete member?

Ans X 1. Concrete is assumed to be homogenous.
o 2.
The stress-strain relationship for concrete is a curved line, under working loads.
< 3.
The steel area is assumed to be concentrated at the centroid of the steel.
x< 4.
At any cross-section, plane sections before bending remain plane after bending.
Question ID : 2752289627
Status : Answered
Chosen Option : 2
Q.11

Determine the degree of static indeterminacy of the bow-string girder as shown in the given figure. Assume all joints to
be rigid.

Ans  X1.16
2 24
<3 21
x40

Question ID : 2752289614
Status : Answered
Chosen Option: 4
Q.12

What is the average triangle closure for tertiary triangulation?
X1 Lessthanls

<2353

X3 9g

¥4 65

Ans

Question ID : 2752289687
Status : Answered
Chosen Option : 3

Q.13 Which of the following advantages of cone penetrometer over Casagrande method knowing both these methods are
used to determine the liquid limit of soil is INCORRECT?

Ans 1. The method is applicable to wide range of soils.

X 2. It is easier to perform.

« 3. It imposes a sudden deformation of soil.
x4

The results are reliable, and do not depend upon the judgment of operator.

Question ID : 2752289645
Status : Answered
Chosen Option : 3




Q.14

Which of the following statements about plate girder bridges is INCORRECT?

Ans % 1. It may be either of through or deck construction.
« 2. Plate girder bridges are recommended for medium spans.
o 3.
Fabrication and erection cost for plate girder bridges are slightly higher than that for truss girder bridges.
5 4
They can be fabricated at the site in much less time than the truss girder bridges.
Question ID : 2752289639
Status : Answered
Chosen Option : 2
Q15 Stop sign comes under:
Ans X 1. cautionary signs
« 2. regulatory signs
X 3. informative signs
X 4. non-mandatory signs
Question ID : 2752289683
Status : Answered
Chosen Option : 1
Q.16 Select the correct MSW (municipal solid waste) centralised separation technology used for materials like non-ferrous
metals from the following.
Ans

# 1. Ballistic separation light
« 2. Eddy current separation
X 3. Magnetic separation

X 4. Wet separation

Question ID : 2752289667
Status : Answered
Chosen Option: 3

Q.17 <When the ratio of long span to short span is greater than or equal to 2, such designed slab is often called as:

Ans

X 1. two-span slab
X 2. one-span slab
X 3. two-way slab

« 4. one-way slab

Question ID : 2752289632
Status : Answered
Chosen Option : 4




Q.18 is an error that under the same conditions, will always be of the same size and sign.
Ans X 1. Accidental error

X 2. Mistake

X 3. Compensating error

« 4. Systematic error

Question ID : 2752289692
Status : Answered
Chosen Option : 4

Q19 Which of the following statements about strap footings is INCORRECT?

Ans

X 1. The strap is weightless.

# 2. The interior footing is centrally loaded.

3
The soil pressure is uniform beneath few individual footings.

X 4. The strap is perfectly rigid.

Question ID : 2752289661
Status : Answered
Chosen Option: 1

Q.20 The equation for degree of static indeterminacy = (m + r) —3j is true for which of the following frames, where m is the
mumber of unknown member forces, r is unknown reaction components and j is the number of joints ?

Ans X 1. Rigid jointed space frame

X 2. Pin jointed plane frame

# 3. Rigid jointed plane frame

« 4. Pin jointed space frame

Question ID : 2752289615
Status : Answered
Chosen Option : 1

Q.21

The steel flats are designated by
Ans X 1. length and thickness of the section
X 2. length, width and thickness of the section

« 3. width and thickness of the section
X 4. width, thickness and self-weight of the section

Question ID : 2752289634
Status : Answered
Chosen Option : 2




Q.22 Ifthe journey speed is less than
acceleration and deceleration.

Ans X 1. time mean speed

X 2. spot speed
« 3. running speed

X 4. space mean speed

. it indicates that the journey follows a stop-go condition with enforced

Question ID : 2752289679
Status : Answered
Chosen Option: 1

Q23 wyhich of the following statements about drilled piers is INCORRECT?

Ans X 1.

Strict supervision of drilling operation is required in drilled piers.

x 2

Drilled piers can be used even when the soil contains boulders, etc.

x 3.

Drilled piers have higher resistance to lateral loads than piles.

o 4.

Subsurface investigations required in the case of drilled piers are less than that in piles.

Question ID : 2752289656
Status : Answered
Chosen Option : 3

Q.24 The thin layer of bitumen coating between an existing bituminous layer and a new bituminous layer is:

Ans X 1. geal coat

X 2. prime coat

« 3. tack coat

< 4 intermediate coat

Question ID : 2752289671
Status : Answered
Chosen Option : 3

Q.25 Which of the following is NOT the correct Dupuit's assumption made to derive expression for the coefficient

of permeability?
Ans X 1. The flow is steady.

« 2. The soil mass is isotropic and heterogeneous.

X 3. The flow is laminar and Darcy's law is valid.

< 4. The flow towards the well is radial and horizontal.

Question ID : 2752289648
Status : Answered
Chosen Option : 1




Q.26 is the property that determines the ease and homogeneity with which concrete can be mixed, placed,
compacted and finished.

Ans X 1. Design mix and nominal mix
« 2. Batching
X 3. Durability
« 4. Workability
Question ID : 2752289628
Status : Answered
Chosen Option : 2
Q27 propped cantilevers have degree(s) of indeterminacy.
Ans 1. two
~< 2. zero
X 3. three
« 4. one
Question ID : 2752289613
Status : Answered
Chosen Option : 4
Q.28

is the correct proportion of alkalis for good brick earth.
Ans 1. < 10%

<2 20-30%

X3 <2%

X4 = 10%

Question ID : 2752289620
Status : Answered
Chosen Option : 1

Q.29 wWhich of the following is NOT one of the common types of Mat foundation?
Ans X 1. Flat plate type

X 2. Box structures

X 3. Mats placed on piles

« 4. Double flat plate thickened

Question ID : 2752289659
Status : Answered
Chosen Option: 3




Q.30 Which of the following is the major constituents of solid waste composition?

Ans X 1. Glass
< 2. Ceramics

« 3. Decomposable organic materials

< 4 Textile

Question ID : 2752289663
Status : Answered
Chosen Option : 3

Q.31 Which of the following properties of aggregate is tested by conducting aggregate impact test?
Ans X 1. Porosity
« 2. Toughness

# 3. Hardness
X 4. Durability

Question ID : 2752289675
Status : Answered
Chosen Option : 2

Q.32 Which of the following is NOT one of the advantages of hauled container system used in collection of solid wastes?

Ans X 1.
Useful when generation rate is high and containers are large

x 2
May eliminate spillage associated with multiple smaller containers

« 3. Utilization rate is high even if the containers are not filled

X 4
It is flexible. A larger container can be used if more capacity is needed.

Question ID : 2752289666
Status : Not Answered
Chosen Option : --




Q.33

Ans

Weight

Which of the following pulley systems does the given figure belongs to?

X 1. Fourth order pulley system
X 2. First order pulley system

X 3. Third order pulley system
« 4. Second order pulley system

Question ID : 2752289609
Status : Answered
Chosen Option: 1

Q.34 Which of the following is the correct classification of traffic simulation model based on processes?

Ans

X 1. Mesoscopic models

< 2. Continuous models
+ 3. Deterministic models

< 4. Discrete models

Question ID : 2752289681
Status : Answered
Chosen Option : 3




Q.35 On the basis of shear strength, soils can be divided into three types. Which of the following options is INCORRECT?

Ans X 1. Cohesionless soils

X 2. Cohesive frictional soil

X 3. Purely cohesive soils

« 4 Elevated cohesion soil

Question ID : 2752289651
Status : Answered
Chosen Option : 4

Q.36 A value of toughness index less than unity indicates that the soil is friable at the .

Ans 1. plastic limit

X 2. liquidity limit
X 3. composite limit

< 4. elastic limit

Question ID : 2752289646
Status : Answered
Chosen Option: 3

Q.37 The stability of a structure as a whole against overturning is verified so that the restoring moment is more than the sum
of times the maximum overturning due to characteristic dead load.

Ans 51 2
X2 1.8
X3 14
4 12

Question ID : 2752289633
Status : Answered
Chosen Option : 3

Q.38 Under which of the following conditions is the method of section preferred over the method of joints?
Ans o 1.

In a large truss in which forces in only few members are required

x 2
In the situation where the method of joints fails to finish with analysis

X 3. In a large truss in which forces in all members are required

x 4.
In the situation where the method of joints fails to finish with assumptions

Question ID : 2752289607
Status : Answered
Chosen Option : 2




Q.39

Which of the following statements in regard to the design considerations for bond and anchorage is INCORRECT?

Ans X 1.
In case of bundled bars, lapped splices of bundled bars shall be made by splicing one bar at a time.
o 2.
When bars of two different diameters are to be spliced, the lap length shall be calculated on the basis of the diameter of
the larger bar.
X 3.
In cases where welding is not practicable, the lapping of bars larger than 36 mm may be permitted, in which case
additional spirals should be provided around the lapped bars.
~< 4
Lap splices shall be considered as staggered if the centre to centre distance of the splices is not less than 1.3 times the
lap length.
Question ID : 2752289630
Status : Answered
Chosen Option : 3
Q40 Which of the following is the true case for the given free-body diagram?
T FFIO rm
I:fri(:t —
l FQFB‘J
Ans X 1.
A football is moving upwards towards its peak after having been boosted by the punter. Neglect air resistance.
x 2.
A force is applied to the right to drag a sled across loosely packed snow with a rightward acceleration. Neglect
air resistance.
X 3.
A rightward force is applied to a book in order to move it across a desk with a rightward acceleration. Consider
frictional forces. Neglect air resistance.
o 4.
A car Is coasting to the right and slowing down. Neglect air resistance.
Question ID : 2752289606
Status : Answered
Chosen Option : 3
Q.41 is suitable for very fine-grained soils (k < 10~° mm/sec) for which permeability test cannot be easily
conducted in the laboratory.
k = coefficient of permeability
Ans

< 1. Allen Hazen's formula
+ 2. Consolidation test data
< 3. Loudon's formula

X 4. Kozeny-Carman equation

Question ID : 2752289649
Status : Answered
Chosen Option : 2




Q.42 1t is very well known that when grains (food grains, sand, cement etc.) are heaped, there exists a limit for the inclination
of the heap. Beyond that the grains start rolling down. The limiting angle up to which the grains slip is called

Ans 1. Arch bricks
# 2. Pale bricks
X 3. Body bricks
# 4. Rustic bricks

Ans % 1. angle of friction

X 2. cone of friction
X 3. angle of limit

« 4. angle of repose

Question ID : 2752289608
Status : Answered
Chosen Option : 4
Q.43

are overburnt also known as clinker bricks obtained from the inner portion of the kiln.

Question ID : 2752289619
Status : Answered
Chosen Option : 4

Q44 For large spans are used.
Ans % 1. guided bridges
X 2. girder bridges
< 3. roller bridges

« 4. trussed bridges

Question ID : 2752289612
Status : Answered
Chosen Option : 2

Q.45 Specific surface of low heat cement should NOT be less than
Ans X1, 4000
X2 2250
« 3. 3250
< 4. 3000

_ cm?/g.

Question ID : 2752289623
Status : Answered
Chosen Option : 2




following points?

Ans 1. Plastic fines
X 2. Poorly graded
X 3. Well-graded
X 4. Peat

Q.46 According to Unified Soil Classification System (USCS), the symbol 'C" is used to represent which of the

Question ID : 2752289647
Status : Answered
Chosen Option : 1

Ans 1. 5%
X2 8%
X3 3%
X4 13%

Q.47 The IRC has specified maximum stripping value of aggregates should NOT exceed .

Question ID : 2752289674
Status : Answered
Chosen Option: 1

Ans X 1.

x 2
coarse sand.
o 3.

increased.

x 4

Q48 Which of the following statements is INCORRECT?

Cement lime mortars are helpful in autogenous healing of cracks.

It requires about twice as much cement to produce a mortar of given strength when fine sand is used as it does with
The density and strength of mortars made of the same class of aggregate increase as the proportion of fine aggregate is

There is loss of compressive strength by the replacement of less than 25% of cement by hydrated lime.

Question ID : 2752289625
Status : Answered
Chosen Option : 4

Ans

Q.49 Which of the following is NOT the correct type of reinforced concrete beams?

« 1. Singly or doubly reinforced L-beams
« 2. Singly or doubly reinforced U-beams
X 3. Singly or doubly reinforced T-beams

X 4. Singly or doubly reinforced rectangular beams

Question ID : 2752289629
Status : Answered
Chosen Option : 2




Q.50 The penetration test of bitumen should be conducted at a specified temperature of
Ans X 1. 30eC

X 2. 40°C

X 3. 35°C

4 25°C

Question ID : 2752289677
Status : Answered
Chosen Option : 4

Q.51 For collection route design of solid wastes, which of the following approaches is a mathematical model?

Ans X 1. Distinctive approach

+ 2. Deterministic approach
X 3. Deterministic-heuristic approach

X 4. Heuristic approach

Question ID : 2752289665
Status : Answered
Chosen Option : 3

Q.52

"The wavelength at which a black body radiates its maximum energy is inversely proportional to temperature.”

The given statement belongs to which of the following basic radiation laws?
Ans X 1. Rayleigh's law

X 2. Planck's law

X 3. Stefan-Boltzmann law

« 4 Wien's displacement law

Question ID : 2752289691
Status : Answered
Chosen Option : 2
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Question ID : 2752289604
Status : Not Answered
Chosen Option : --

Q54 Stop line comes under:

Ans 1. transverse markings
X 2. primary markings
X 3. object markings
X 4. longitudinal markings

Question ID : 2752289684
Status : Answered
Chosen Option : 2

Q.55 What should be the ratio of foundation mass to engine mass for 6-cylinder gas engines?
Ans X130

X2 28

X3 21

4 225

Question ID : 2752289652
Status : Not Answered
Chosen Option : --




Q.56 The given statements are true for which of the following options?

1. They are useful on the stabilized surfaces and water bound macadam base courses.

2. They are generally prepared on road sites by mixing penetration bitumen with petroleum distillate.

Ans X 1. Modified bitumen
X 2. Cutback bitumen
+ 3. Bituminous primers

X 4. Bitumen emulsion

Question ID : 2752289676
Status : Answered
Chosen Option: 3

Q57 The given symbol is true for:

Ans

# 1. shop rivets (Countersunk both sides)
X 2. field rivets (Countersunk far sides)
« 3. field rivets (Countersunk near sides)

X 4. field rivets (Countersunk both sides)

Question ID : 2752289640
Status : Answered
Chosen Option : 3

Q.58 Anargand oil lamp of about
Ans X1, 80
« 2 50
<3 20
X4 35

candle power is used as illuminated signals for underground sighting.

Question ID : 2752289686

Not Attempted and
Marked For Review
Chosen Option : --

Status :




Q.59

are sheet piles which are used to protect water-front structures from impact of ships and vessels.

Ans X1 Anchor piles
X 2. Compaction piles
X 3. Tension piles
« 4. Fender piles
Question ID : 2752289660
Status : Answered
Chosen Option : 4
Q.60 Which of the following is NOT the advantage of pneumatic caissons as compared to the open caissons?
Ans X 1.
There is no settlement of the adjoining structures as the water table is not lowered.
o 2.
There is no inconvenience caused to the workmen while working under high pressure.
X 3. Excavation and pouring of concrete are done in the dry.
< 4
As there is an access to the bottom of the caissons, obstructions can be easily removed.
Question ID : 2752289655
Status : Not Answered
Chosen Option : --
@61 Which of the following axes is also called yawing axes?
Ans

Z< 1. Both X and Y axes
X< 2. Y-axes
< 3. X-axes
o 4 Z-axes

Question ID : 2752289653
Status : Answered
Chosen Option : 1

Ans

Q62 The specific gravity of bitumen varies from:

X 1. 0.87t00.92
X2 0.92to 0.96
/<3 0.82t00.85
« 4 0.97 to 1.02

Question ID : 2752289678
Status : Answered
Chosen Option : 4




Q.63

is a layer of natural soil prepared to receive the stresses from the layers above. It should be compacted to the

desirable density, near the optimum moisture content.

Ans 1. The sub-grade

< 2. The sub-base course

/3. The binder course

# 4. The base course

Question ID : 2752289672
Status : Answered
Chosen Option : 1

Q.64 Which of the following conditions is NOT correct when the plane table can be oriented by compass?
Ans

# 1. When there is no second point available for orientation.
X 2. When speed is more important than accuracy.

# 3. In certain resection problems.
4

When the traverse is so short that accumulated errors in carrying the azimuth forward might be greater than orientation
by compass.

Question ID : 2752289698
Status : Answered
Chosen Option : 4

Q:65 TWhich of the following is NOT one of the types of machine foundation?

Ans

« 1. Unit type
X 2. Wall type
< 3. Box type
X 4. Block type

Question ID : 2752289654
Status : Answered
Chosen Option : 1

Q.66 Which of the following tvpes of tests that are used to measure the shear strength of a soil is INCORRECT?

Ans

X 1. Direct shear test
« 2. Confined compression test

< 3. Shear vane test

X 4. Triaxial compression test

Question ID : 2752289650
Status : Answered
Chosen Option : 2




Q.67 Which of the following methods of structural analysis is true for compatibility governing equations?
Ans 1. Theorem of least work

/< 2. Slope deflection method

X 3. Stiffness matrix method
< 4 Moment distribution method

Question ID : 2752289616
Status : Answered
Chosen Option: 1

Q.68 ywhich of the following types of chain consists of 16 links. where each link being 2 i ft long?

Ans X 1. Engineer's chain

+ 2. Revenue chain
# 3. Steel band or band chain
< 4 Gunter's chain

Question ID : 2752289693
Status : Answered
Chosen Option : 2

Q69 The frame shown here is used for:

Ans X 1. single lane steel bridge

X 2. multi-lane highway
+ 3. double track railway
X 4. single track railway

Question ID : 2752289638
Status : Answered
Chosen Option : 1




Q.70

is used to sink the hole in ground where hand or mechanical augering is not possible, such as water bearing sand
or gravels.

Ans % 1. Technical auger

X 2. Casing auger

« 3. Boring rig

X 4. Belling bucket

Question ID : 2752289658
Status : Answered
Chosen Option : 3

Q.71 78 71 3= @ @ BT 7§ &9 AR 3T F FeR F R = T F
Ans

X1 FEFAT T

X2 3T (FEfew) gered

K3 olig TS

v i g (F=0), Frdr (Frew)

Question ID : 2752289622
Status : Answered
Chosen Option : 4

Ans

Q.72 The amount of water required by different clays to produce the most plastic condition varies from

X< 1. 10% to 15%
X 2. 25% to 30%
+ 3. 15% to 35%
X 4 0% to 5%

Question ID : 2752289618
Status : Answered
Chosen Option : 3

Ans

Q.73 Which of the following pavements can have joint spacing of 10 m to 30 m?

# 1. Continuous reinforced concrete pavement
X 2. Pre-stressed concrete pavement
# 3. Jointed plain concrete pavement

« 4. Jointed reinforced concrete pavement

Question ID : 2752289670
Status : Answered
Chosen Option: 1




Q.74 In , wheel loads are transferred by grain-to-grain contact of aggregate through the granular structure.

Ans X 1. composite pavements

X 2. rigid pavements
X 3. secondary pavements

« 4. flexible pavements

Question ID : 2752289669
Status : Answered
Chosen Option : 4

Q75 Tn through type plate girder bridge, the floor is placed on the
Ans X 1. top flanges
# 2. top chords
< 3. bottom chords

« 4. bottom flanges

Question ID : 2752289636
Status : Answered
Chosen Option : 4

Q76 What is the unit weight of aggregate like magnetite and scrap iron?
Ans @1 25-29kN/m?

X2 23-26 kN/m?

X3 12 kN/m?

X4 33 -38kN/m?

Question ID : 2752289624
Status : Not Answered
Chosen Option : --

Q.77 This method of adjusting a traverse is adopted when the angles are measured very accurately, the corrections being

applied to lengths only. Thus, only directions of the lines are unchanged and the general shape of the diagram is
preserved. This method is known as

Ans X 1. Transit method
# 2. Graphical method
+ 3. Axis method
~ 4. Bowditch's method

Question ID : 2752289695
Status : Answered
Chosen Option : 3




Q.78 Which of the following is NOT one of the correct desirable properties of sub grade soil as a highway material?
Ans - X1. Ease of compaction

& 2.

No changes in volume and stability under adverse conditions of weather and ground water
X 3. Stability and incompressibility
X 4. Permanency of strength

Question ID : 2752289673
Status : Answered
Chosen Option : 4

Q.79 Which of the following methods is by far the most practical and accurate one for plotting traverses or any other
extensive system of horizontal control?

Ans 1. By the chord of the angle
X 2. Angle and distance method

+ 3. Co-ordinate method
X 4. By protractor

Question ID : 2752289694
Status : Answered
Chosen Option : 1

Q.80 wwWhich of the following is NOT the correct advantage of echo-sounding?

Ans o 1.
Arecord of depth is plotted gradually and provides a periodic record of the bottom as the vessel moves forward.

X 2. The speed of sounding and plotting is increased.
x 3.

The error due to estimation of water level in a choppy sea is reduced owing to the instability of the boat.

& 4. Tt is more sensitive than the lead line.

Question ID : 2752289685
Status : Not Answered
Chosen Option : --

Q.81 Which of the following methods is generally used for determination of mass density of soil?

Ans 1. Sand replacement method

X 2. Shrinkage limit method
# 3. Pvcnometer method

X 4. Gas jar method

Question ID : 2752289643
Status : Answered
Chosen Option: 1




Q82 yWhat message does the following hand signal gives during observation?

"Extension of arms and placement of hand on top of head"
Ans X 1. Lower height peg or staff

X 2. Raise height peg or staff

X 3. Establish the position

« 4. Return to me

Question ID : 2752289697
Status : Not Answered
Chosen Option : --

Q83 What should be the standard spacing of trusses for 15 - 30 m span?

Ans 1. 45t06m
X2 3to45m
# 3. More than 30 m
X4 2tod4dm

Question ID : 2752289637
Status : Answered
Chosen Option : 2

Q84 The most popular of the car-following models is:
Ans X 1. Forbes’ model
X 2. Optimal velocity model

« 3. General Motors® model
X 4. Pipe's model

Question ID : 2752289682
Status : Not Answered
Chosen Option : --

Q.85 Which of the following is NOT the correct method for finding the deflections of determinate beams?
Ans 1. Stress energy method

Z 2. Moment area method
# 3. Conjugate beam method

X 4. Unit load method

Question ID : 2752289611
Status : Answered
Chosen Option : 4




Q.86 Which of the following is the correct operation/use of 'under counter comparator types'?

Ans X 1.
Used to compact paper (com) plastic bags on rotating platform

X 2. Used at landfills - high pressure movable tracks
+ 3. Small compactor used in houses

X 4. Chute fed - vertical / horizontal

Question ID : 2752289668
Status : Not Answered
Chosen Option : --

Q.87 is a point on which both minus sight and plus sight are taken on a line of direct levels.

Ans

# 1. Station point
+ 2. Change point
X 3. Intermediate point

X 4. Fore point

Question ID : 2752289696
Status : Answered
Chosen Option : 1

Q.88 In , the photo-control points are selected on the ground first, and then included in the photograph.
Ans X1. the post-marking method

« 2. the pre-marking method

« 3. the primary marking method

& 4. the prineipal marking method

Question ID : 2752289690
Status : Not Answered
Chosen Option : --

Q.89 What is the approximate time taken by the cotton cloth waste to degenerate?
Ans  X'1. 10 - 30 days

22 10 - 15 years

« 3. 2 - 5 months

X 4. 1 year

Question ID : 2752289662
Status : Answered
Chosen Option : 1




Q.90

is the equation expressing the relation existing between the several dependent quantities.

Ans X 1. Normal equation
X 2. Residual equation
+ 3. Conditioned equation
X 4. Observation equation
Question ID : 2752289688
Status : Answered
Chosen Option: 1
Q.91 find application in extractive metallurgy. Their refractories may be as high as 2000 °C.
Ans 1. Magnesian refractories
# 2. Chromous refractories
X 3. Sjliceous refractories
X 4. Carbonaceous refractories
Question ID : 2752289626
Status : Not Answered
Chosen Option : --
Q.92 is the area of concrete in compression plus the area of reinforcement transformed on the basis of modular ratio.
Ans

~ 1. Transformed section
X 2. Control section

X 3. Gross section

« 4 Cracked section

Question ID : 2752289631
Status : Answered
Chosen Option : 3

Q.93 There are several factors, which affect the present as well as future waste quantity and composition and some of which

Ans

are listed in the options. Which of the following is a false factor that makes no effect?

+ 1. Population non-diversity
X 2. Seasons

X 3. Legislation

X 4. Public attitude

Question ID : 2752289664
Status : Not Answered
Chosen Option : --




Q.94 Which of the following methods of structural analysis is one of the types of static indeterminacy?

Ans

# 1. Stiffness matrix method

X 2. Kani's method

+ 3. Method of consistent deformation
# 4. Slope deflection method

Question ID : 2752289617
Status : Answered
Chosen Option : 3

Q95 The 1970 version of zone map subdivided India into

seismic zones.

Ans X1. four
+ 2. five
X 3. seven
X 4. three
Question ID : 2752289635
Status : Answered
Chosen Option : 4
Q.96 are sedimentary deposits consisting of alternate thin layers of silt and clay. They are results of deposition in
lakes during periods of alternately high and low waters.
Ans

A 1. Tundra
« 2. Varved clays

/< 3. Diatomaceous earth

< 4. Bentonite

Question ID : 2752289642
Status : Answered
Chosen Option : 4




